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A baseline grid is based on the leading of the continuous text (body text) of a
publication. Leadings and paragraph spaces of all text in a complex publication
would then be mathematically derived from this leading. A baseline grid en-

sures that the sizes and leadings all text in a complex publication are related to
each other and are locked into place, so that they line up across columns as well
as across pages. Baseline grids are almost always used in newspapers, and often

in other complex publications such as magazines and textbooks.
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Paragraph spacing and subheads

In order for the body text to always align with the baseline grid, the space before

and after paragraphs must be set to zero or multiples of the leading (1,2 or 3
An example of how subheads blank lines). While a subhead does not always have to align to the baseline grid,
may fit within a body text that the space before and after it must add up to the baseline grid increment, so that
aligns to a baseline grid the text following the subheads will align with the baseline grid again.
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Preferences

Setting up a baseline grid

General Grids
Interface
Type Baseline Grid
In InDesign, set the baseline grid Advanced Type Colour: | E Light Blue ial
. f id Compasition
in Preferences > Grids: Lnits & Ingrements Start: [4p0 |
Crids Relative To: | Top of Page B
. . Cuides & Pasteboard | E i |12 |
Start: Where the baseline grid Dictionary (s [y |
starts, relative to either the top Spelina View Threshold: [75% 3
Autocorrect
edge of the page or the top Hotes
margin. This is usually at the top
margin. |
Increment Every: this is usually
the leading of your body & Click this button to align

text, but can be in smaller text to baseline grid
increments. For example, if

the body text has a leading of

12 pt, you may want to use a 3pt

increment. This is more difficult
ody text 10/12pt Gue cor alis aut alisi, Onsectet et wis
to control, however. x exer iusciduis nonsed delisit eumsan henismodolor
ILlaadlilmna Q9 [ (ugsdntum ililscili scipisim nonsectem el iustis eui
ACalUullllc OL’I (0] it diqn veliguiat am dolore volorpe reipis mum velesse
. . qu; tum dnlm' eni riuscidunt vero eriure feum ea fa-
hit+inAa+tha hoaos tlor alit at lore verat augait luptatin eraese
. o LHLLITIY UICS Udo i zriureros nonummo digniat exercid
Turn on the baseline grid in | ~ . issed moloboreef aliquis ex ent aliquatum vulputat lobor
i > i i N i AN\ IO VA7 LM /o sumquipsustio conulput nibh ea feuisis etum atuercil elit.
View > Grids & Guides gria EVErY IINE [ aicoraisatais. onsecietetwis ox exeriusciaa
Show Baseline Grid ~ onsed delisit enmsan henismodolor suscili quatum il us-
cili scipisim nonsectem el fustis euis dionulla con veliquat
dolore volorpe rcipis num velesse quatum dolor senim
= = B o & £
.
In Object > Text Frame DQ|Ol‘edloe|exeu ,,,,,,,,,,,,,,,,,,,,,,,,,,, Dolore. dio. el .ex eufeuguero. .|
Options... > Baseline Options, f d nt ut prat . n dunt ut prat in veliquam vel
the first baseline could be set eugu u u p atl lendreet lan eugait n(l;msandp
. am, summy nummodi onsecte
to fall on an exact position that Veliq uam Vel end I‘eet molortie mznit iurem quam
y?u specify, erjsunng perfect . . sequamet, quat. Oborper sum
alignment horizontally across Ia n euga itn um mOdl L dzzrit velisi ex erat. x

text frames and columns.

Text Frame Options

The offset can be set to base on

the ascent, cap height, |eading, [ General IEECHMS (o], 8 Auto-Size |

. . . f — First Baseline

x-height, or fixed. Fixed is the i E—
. Offset: | Fixed D Min: 1p0

most precise for our purposes e L2 "

here. Type in the baseline grid - Baseline Grid

increment in the Min: box. [_] Use Custom Baseline Grid
Start: [<-0pD

Relative To: | Top Inset =

=12 pt

Colour: | [ (Layer Colour) *

For any text that does not have a

OpenType >
leading that is an exact multiple + Ligatures
of the baseline increment (body Underline Options....
text leading), set it to align only Strikethrough Options...
the first line to the baseline grid. No Break
Go to the paragraph submenu Adobe World-Ready Single-line Composer

Adobe World-Ready Paragraph Composer

and select ‘Only Align First Line + Adobe Paragraph Composer

to Grid'. The pullquote and the Adobe Single-line Composer
caption shown in the example Only Align First Line to Grid
use this option, because their Balance Ragged Lines

. . nore Optical Margin
leadings are not multiples of 12. 9 P ar
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Examples of leading calculations

for baseline grids

2x

2y

Calculating leadings

Use the following method to calculate leadings based on the baseline grid

increment, ie the leading of the body text.

Example 1 Finding the leading of type that is larger than the body text

___ Gue cor alis aut alisi. Onsectet et
___wis ex exer iusciduis nonsed delisit
_eumsan henismodolor suscili quatum
_iliuscili scipisim nonsectem el iustis

Body text leading = 12pt
Baseline grid increment = 12pt (1p)
12pt x 3 lines = 36 pt

Gue cor alis aut alisi.

- X[ Onsectet et wis ex exer

1usciduis nonsed delisit

Calculating the leading for this larger text
2x = 36pt

X = 36+2 lines

x = 18pt
The leading of the larger text should

therefore be 18pt so that it aligns with the
baseline grid every two lines.

Select ‘Only Align First Line to Grid’

Example 2 Finding the leading of type that is smaller than the body text

__ Gue cor alis aut alisi. Onsectet et
___wisex exer iusciduis nonsed delisit
_eumsan henismodolor suscili quatum
il iuscili scipisim nonsectem el iustis

Body text leading = 12pt
Baseline grid increment = 12pt (1p)
12pt x 3 lines = 36 pt

2y

Gue cor alis aut alisi. Onsectet et wis ex exer

Y I: iusciduis nonsed delisit eumsan henismodolor

suscili quatum il iuscili scipisim nonsectem
eliustis euis dionulla con veliquat am dolore
volorpe rcipis num velesse quatum dolor

Calculating the leading for this
smaller text

4y = 36pt
y = 36+ 4 lines
y = 9pt
The leading of the smaller text should

therefore be 9pt so that it aligns with the
baseline grid every four lines.
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